
                                                         

                                                                       C803 EP RACE evo Conversion Manual  rel 1.0



C803 EP CCCCaaaapppprrrriiiiccccoooorrrrnnnn    RRRRCCCC 4S/6S RACE evo Conversion 
                 Code Cap 2385-K

Made in Italy

01

M3x8

9

7

8

1

11

10

3

2

17

14

13

5
6

15

16

20

4

25

24

23

22

21

18

18

19

19

12

12

12

18

12M3x6
M3x16

M3x8

M3x8

M3x8

M3x6

M3x8

M3x8

2,5x11,87 Pin

M3x6

M3 Nut

5x10x4 Flanged 
bearing

5x10x4 bearing

12

12

M3x6

M3x6

27

26

28

M3x12

Note:

21 - 22 - 23 included

  into C803 Evo Nitro kit



Parts List

Rif. n° Code

1 1 Cap 2375

2 1 Cap 2172

3 1 Cap 2185

4 2 Cap 2341

5 2 Cap40010

6 1 Cap16055

7 1 Cap 2380

Parts List

Rif. n° Code

8 1 Cap 2134

9 1 Cap 2169

10 1 Cap 2384

11 1 Cap 2378

12 17 Cap17030

13 2 Cap40025

14 1 Cap 2379

Parts List

Rif. n° Code

15 1 Cap 2376

16 1 Cap 2377

17 1 Cap 2383

18 10 Cap17031

19 3 Cap17032

20 2 Cap40018-P

21 1 Cap16012

Parts List

Rif. n° Code

22 1 Cap  415

23 1 Cap16018

24 1 Cap17028

25 1 Cap17040

26 4 Cap17012

27 2 Cap 2147

28 1 Cap 2006

C803 EP CCCCaaaapppprrrriiiiccccoooorrrrnnnn    RRRRCCCC 4S/6S RACE evo Conversion 
                 Code Cap 2385-K

Made in Italy

02



Parts List

Rif. n° Code

1 1 Cap 2171

2 1 Cap17010

3 1 Cap2123-24

4 1 Cap14040

5 2 Cap18024
+

-

C803 EP CCCCaaaapppprrrriiiiccccoooorrrrnnnn    RRRRCCCC 4S/6S RACE evo Conversion 
                 Code Cap 2385-K

Made in Italy

03

3

1

2

4

5

M3x14

M4x4

    40x40 Fan
NOT INCLUDED

 6S  235A  ESC
NOT INCLUDED

     Receiver
NOT INCLUDED

       Servo
NOT INCLUDED

To ESC

+

To ESC
-

Connection Note:
Use a shorter 10AWG cable
       NOT INCLUDED

4S Mode = 2x 2S Square HV Li-Po 6800mAh  51,7Wh
6S Mode = 2x 3S Square HV Li-Po 4800mAh  54,7Wh
                        NOT INCLUDED

Male to Male Pin
NOT INCLUDED

Lower Connection Note

To ESC
-

-
+

SERIAL CONNECTION BATTERY

1900i2800 KV Brushless motor

         NOT INCLUDED

  Double TAPE
NOT INCLUDED



C803 EP CCCCaaaapppprrrriiiiccccoooorrrrnnnn    RRRRCCCC 4S/6S RACE evo Conversion 
                 Code Cap 2385-K

Made in Italy

04

   Fiber TAPE
NOT INCLUDED



Capricorn  LabC803 EP RACE evo 4S MODE

 05     

RATIO
56 57 58

23 5,600 5,700 5,800 2800kv
24 5,367 5,463 5,558
25 5,152 5,244 5,336

66 67 68 69 70 71 72 73 74 75 76 77 78
56

23 37,057 37,618 38,180 38,741 39,303 39,864 40,425 40,987 41,548 42,110 42,671 43,233 43,794
24 38,668 39,254 39,840 40,425 41,011 41,597 42,183 42,769 43,355 43,941 44,527 45,112 45,698
25 40,279 40,889 41,500 42,110 42,720 43,330 43,941 44,551 45,161 45,772 46,382 46,992 47,602

57
23 36,407 36,958 37,510 38,061 38,613 39,165 39,716 40,268 40,819 41,371 41,923 42,474 43,026
24 37,989 38,565 39,141 39,716 40,292 40,867 41,443 42,019 42,594 43,170 43,745 44,321 44,897
25 39,572 40,172 40,771 41,371 41,971 42,570 43,170 43,769 44,369 44,969 45,568 46,168 46,767

58
23 35,779 36,321 36,863 37,405 37,947 38,489 39,031 39,574 40,116 40,658 41,200 41,742 42,284
24 37,334 37,900 38,466 39,031 39,597 40,163 40,728 41,294 41,860 42,425 42,991 43,557 44,123
25 38,890 39,479 40,069 40,658 41,247 41,836 42,425 43,015 43,604 44,193 44,782 45,372 45,961

2800 RPM

42,019 mm V= 107,300 Km/h

Spur
Pinion

Brushless Motor:
Battery: 4S ( 2 x  Square 2S HV Li-Po 6800mAh )

Rollout   mm/RPM

Tire ø
Pinion Spur

Spur

Spur

Zero Boost / zero Turbo    Speed calculation example
Kv motor

V= Volt batt × Kv motor × rollout × 0,00006Rollout



Capricorn  LabC803 EP RACE evo 6S MODE

 06     

RATIO
56 57 58

23 5,600 5,700 5,800 1900kv
24 5,367 5,463 5,558
25 5,152 5,244 5,336

66 67 68 69 70 71 72 73 74 75 76 77 78
56

23 37,057 37,618 38,180 38,741 39,303 39,864 40,425 40,987 41,548 42,110 42,671 43,233 43,794
24 38,668 39,254 39,840 40,425 41,011 41,597 42,183 42,769 43,355 43,941 44,527 45,112 45,698
25 40,279 40,889 41,500 42,110 42,720 43,330 43,941 44,551 45,161 45,772 46,382 46,992 47,602

57
23 36,407 36,958 37,510 38,061 38,613 39,165 39,716 40,268 40,819 41,371 41,923 42,474 43,026
24 37,989 38,565 39,141 39,716 40,292 40,867 41,443 42,019 42,594 43,170 43,745 44,321 44,897
25 39,572 40,172 40,771 41,371 41,971 42,570 43,170 43,769 44,369 44,969 45,568 46,168 46,767

58
23 35,779 36,321 36,863 37,405 37,947 38,489 39,031 39,574 40,116 40,658 41,200 41,742 42,284
24 37,334 37,900 38,466 39,031 39,597 40,163 40,728 41,294 41,860 42,425 42,991 43,557 44,123
25 38,890 39,479 40,069 40,658 41,247 41,836 42,425 43,015 43,604 44,193 44,782 45,372 45,961

1900 RPM

42,019 mm V= 109,216 Km/h

Spur
Pinion

Brushless Motor:
Battery: 6S ( 2 x  Square 3S HV Li-Po 4800mAh )

Rollout   mm/RPM

Tire ø
Pinion Spur

Spur

Spur

Zero Boost / zero Turbo    Speed calculation example
Kv motor

V= Volt batt × Kv motor × rollout × 0,00006Rollout


	C803 EP Ratio_Rollout Chart
	C803 EP Ratio_Rollout Chart

